FACTORING POLYNOMIALS
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Circle all expressions that are polynomials. Cross out all expressions that afe not polynomials. Explain why an expression

is not a polynomial.
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What is factoring?

> Factoring is a procedure that takes a number or an algebraic expression and expresses it as a product of its two

or more factors.
> Factoring is the inverse process of distributing

= 304+ 45«

Distributing Factoring
Ny Ny 2 -
= 20"+ 4« =
[5 x (1x+¢5)
-1 22+ 3)

» Steps involved in factoring polynomials: (Simple factoring )

1. Identify the greatest common factor.
2. Put the gefin front of brackets.

3. Place a quotient of the original polynomial and the gcf inside the brackets.

Sxrt6x = Zx (X+4Q)

10a*b - Habt

- Gab( 20.-L)




PRACTICE FACTORING BY ISOLATING THE GREATEST COMMON FACTOR:

1 | 48x2 — 64x = 9 | 13x3 +39x% + 26 =

6% (B2 4) =3 (%3¢ 3x22)
2 | —42xy® + 7xyd —x%y3 = 10 | 3502 +7 =

7(,\0'5 Y 1\0377-X) 750k +1)

121a? + 33a =
Ho.Low + 3)

11

0.5y° + L.5xy? —5.0 =

-0.5 (yoe 3)(32’/0)

4 | -12m°n* - 18m’n* = 12 | —8b3 + 24b% =
Em*n! (~2nt-3) 36t (-b+3) -~ (b-3)
5 | 2xyz?—xyz3 = 13 | 10x2 + xy* =
x(l;zl(Z—a) x (0% +4*)
L z abc? 3¢3 —abc=
6 grttgat= _I‘3 %3(7(’ +l) 14 Zl::?c _f_fic'?__ l)
7 |-25x%-15= 15 | 14¢5 + 35¢* =
5(-5x-3) 79 Je +57)
8 |pri+3ri—p43+9r= 16 | 81x* -3 =
V(?”W"PZ”W) 3 (2745-1)
Make 2 questions and solve them: AP)S& evs wi// 4/4.’7 :

264 - 124 = Bx (13x-14)

okl + Yga bt = 4ok (%a +b)
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FACTORING USING THE DIFFERENCE OF SQUARES FORMULA
@

C "
e Difference of Squares:

aZ-U = CCL—B) Laﬂcﬂ:.)

./

> Factoring using the above formula is possible for binomials in which both terms are prefect squares and one is
subtracted from the other.

Example 1:

-4 o (1) 7 = (4x-7) (7))

J-a5% - 1% 0= (=) CRI%)

Example 2:

R —Jv = <(/)<)2 “(&1)1: (9’( ]71)( L/X+<72)

Example 4: /Oz/PL B 0?<P9 %6 : O/P)z *(/7?%)2—
- Cip~17g> M ip+174°)

@V —LI4100 - oo~ B2 = 1ot —(@x)
o = QO‘Q,() ( /0“‘%()




PRACTICE FACTORING BINOMIALS USING THE DIFFERENCE OF SQUARES FORMULA:

1

81x% - 144y2 =

(9%-125)( A+ 125)

13

100x2 — 324y?% =
G AGL--ElY)
= 4( S« -9y )(Sx+9y )

-x?+169=_( (L- /49 )

14

9x% ~y? =

O

s =) (2 13) G-y Bety )
3 121x%2 ~y% = 15 | 49x* — 100y% =
=g ) Lixeg) 17 (g0 ) (247 +109%)
4 | 25a2-225¢% = ( 16 | 16x7 +121y% =
a -15e ) Sa +15¢) -
= (5S-(OL~ 3¢)5s(Aadde) = M B “’0‘{“ "“:DOS
5 |e4mf—100n= Y (jppt - 2Tn*) 17 | —9a® + 144b* = JY4 L7 - 99> (SM‘P)
= 4(Yn - Sn )9 +Sh) (}sz _3&)02‘9"‘*3@ )
Sv&}e_,&__? —289x% + 49y2 = L{qbz - 189 18 | 64 —p? =
= (70 - 13 74175 ) (5-p) & P)
7 4x% —16y° = L/(AL_173L) 19 [x2—yf=
Yy Y
“G(K+24)(x-2,) (’(”f))(“ff)
8 |16x*-81z%= Q/"L)l‘ @ ;)* 20 | 18x% -72y%= & (-)Lz__ y E]L)
= (Get-9 22 ) (4224 9% ) =G 2 = e (#-29) ’LHZ?)
9 |af-41d"= (o - q1d)(a 4 2l ) 21 | 50x2 - 9622; Py
=20 28« 2t
z o i C m,oi a Do
7 10 | —-36c*—36d* = 22 | 48a® - 75b% = 2 U(,) Ar -5 (o‘)
o| | Hes is woba DOS - o 4a - Cb)( Ya+ Sb)
11 | 196x2 —256y% = 23 |242x*-128y2= ; (/QIr2-64 (71 )
lbx—lb Y( st lby) _ -
(’2(714 83)2(7)(7%’2):{:4:49‘3 ‘Z( H % 0087)(,/’(+d)5)
12 24 | 300m?—108n? =

a?x? — b%c? = @L)L)L ro))..

= (ot - |oc)(6u+ [oc)

12 0 25m> -9 n*)
i ((smi-5n)(Smran)

£ 25 (o-2) o+ 3c)

Skt YT =P X+ Eh )

&S ( byt Q;}l)((l,():@})l) - (L/x7’+ 92")(07)%?)})(3)(’*3?)




